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Something similar was given [image: ]
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*Problem 16-20

Initially the motor on the circular saw turns its drive shaft at @= k¥ If the radii of gears 4 and B are
74 and 7 respectively, determine the magnitudes of the velocity and acceleration of a tooth C on the

saw blade after the drive shaft rotates through angle &= 6 stasting from rest
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“Problem 19-24

If the hoop has a weight FF"and radius r and is
thrown onto a rough surface with a velocity Vg
parallel to the suface, determine the amount of
backspin, @, it must be given so that it stops
spinning at the same instant that s forward
velocity is zero. It is not necessary o know the
coefficient of kinetic friction at 4 for the
calculation.

Solution:
(Mo (7)2
Thor-(L)a
g g
vG
=L
-

N




